TRXERE(BAD)

A B M iR & %
3A1H FH BEETEKEEHBERER 20,000
3A2H iy RBETmEREEHBERES 21,600
3A3H e FLEESMEREEXZSBES 10,000M
3A10H &E ER2EFEAVFY—I—TUIKRE 3,000
3A11H BEE  HGREFLE 2,760
3A12H HE BEmY ISR TESFESHESR 10,000/
3A18H = A= AN—YVEREHRER 16,000/
3A24H FH  cRILITERBER 10,000
3A25H #HY  ELTEREEE 21,600M
3A25H mREE BRAE=R 2,376M
3R 26H e EUEHEREREAS 10,000
3827H = HEREEAEERPRE+ - HAAKESRERTRES 2,000M
3A27R FH  aEEETIRARBR 20,000
3A28H #Y cEmEETIRAREE 21,600
3A28H AE LWORER4EFHERFESRLIBERS 10,000M
3A28H 2% SEEEISEREERHES 4,000

& &t 184,936




